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Since it is written, ‘and you shall do to him as he conspired’, why do
we need, ‘a hand for a hand’

Overview

The X mx explained the reason 1 " (who generally maintains 0%wn R 7712)
agrees that by 1"V the rule is P17 XY 0%Wwn, is because the 710 explicitly stated
regarding 1"y that they should pay. This is derived from the 2’109 of 1"y." Once the
77N states onT TWRD 12 anwy, why was it necessary to state 72 7°? We would have
known it from 217 WK, The reason 7°2 7> was written is to teach us that the 1"V are
punished with something which is given 7°% 7°», namely money.

mooIN anticipates a difficulty:
= 190 NN ¥IYN 01T YUK 1D DNUMNT 13 1550 NNDT 9391D NI

And we cannot ask, why do we need the extra P09 of 7°2 7> to teach us that by
1"y the rule is 7?7 XY o%wn, when from ant "wR> Y» anwy it is indicated

explicitly that the 1"V must pay with money -
- 2111 19 2501 19 1P 12NY DY DYNY MY

For just as the 7v wanted to obligate the falsely accused to pay money, therefore
the 7Y too should be obligated to pay him money —

Moo responds:
- 35'11‘,77)31 59192 59991 DN YYNIT 9929129 198107

For we could have said that the rule of ant 9wN> is discussing a case of capital

punishment and flogging -
- DYYN XY NN ¥PY NPYM Pana Yan

However, if there was a 3% 211 (and mp%n) perhaps the rule would be that the "'y

is flogged but does not pay; therefore, the 72 7> teaches us than even by mpm nnn the rule
is 7PY? %Y obwn.

n1voIN asks:

" The 770 in v, (2°V9W) 0127 writes, N PANY Nivy? ong W 2 oy 2, and in XD P10D it writes, 73y 0D KDY XD
3173 7Y M.
? We are discussing a case where the 1"y wanted the falsely accused to pay. If the rule would be oown 1R 7pY> the
ant WK would not be fulfilled; so why do we need 7°2 7° to teach us that 7171 1°RY Down?!
? The 1"¥ testified that the accused was naw 55nn, there is therefore a n°n 21n for the 1"V on account of nT WX, and
a mpon 211 for mwn X2, The 7100 of onT W3 teaches us that they do not receive mpon, but rather mnon.
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However, the expression of the X123 that ‘since it states ¥ answ etc., why do
we need 792 7°’°; this expression is difficult -

= 19D P91 NIN N291NY TIIVNIN NDT XRNINNT ‘yavnt

For it seems that we derive this ruling of 7?% X1 o%wn, because 72 7 is

superfluous; it is not required for this ruling since we already know it from WX> an W

ant; however, this is not so -
- 1)1 YP9Y PHYM 153 1> 199 KY 199N NI

For even if 752 75> would not be superfluous, it would still indicate properly that

money must be paid, for what else can 7°2 7> mean -
- 6]’)’ NN PYN (8,791 3,30 97 80P N32) TAINNA )P NPT SUnm a1 W95 XYY

For we cannot interpret 7°2 7° to mean an actual hand for a hand, as we derive
in %2177 P19 from ¥ nnn Y (an eye in place of an eye) —

An additional question:
- 595303 Y9N %23 "9NPT XD P

And furthermore, this which the X7n) states (here) regarding one who wounds

his friend, since the 7™n already wrote ¥ 7wy 19 WY WK -

= 199359 17153 SN XY 1993 11230 927 %Y 113 12 1N’ )9
Why do we need the P05 of Y9 3010 325 it is written to teach us something which is
given from hand to hand, and what is it; money. This concludes the s'x3 proof that

by 22111 the rule is 7pY72 1°R 09wn. The question is -
- Py 9uNan 8 P13 792InNa XPOY 92 1132 19197 D122 19NN NI NN 9959 991 NION

* The xn3 uses the expression % a%'; meaning that 72 7 is extra, therefore we can derive from the extra words the

ruling of 77p12 1°X1 02wn. however, Moo argues even if it were not extra, it would still teach us that 717 1R oown!

> It cannot mean that if one chopped off his friend’s hand, his hand would be chopped off, and in our case if the 1"y

testified that the accused chopped off someone’s hand, we will chop off their hand; this cannot be!

6 sx 21 derived it through a MW 77°13; here it states 1Y Arn 1Y and by 0IR% (in ©3,25 [KXN] 0°727) it states W R 101

N I R AR AWK man 19) 192 0°Wnn 17YIT 282 Any 20Wh. Just as by 0IRD he pays money 703 2wnn " 1M, here

too by ¥ nnn Y it means 703, the value of the (missing) eye. The same applies to all other limbs that the 1 pays

no>. Therefore, 7°2 7° means 7> regardless whether it is superfluous or not; so why does the X3 say *2 7n2?! See

‘Thinking it over’.

" The xm states that wounding your friend (37°2n2 211) is another case where 137 " agrees that P17 11°XY 22wn,

since the 7710 explicitly ruled that the 221 must pay.

¥ The 0°p109 in 2-1°,73 (MMK) X7pP™ read; 197 MWD N 12Y NP 12 O 57 ARY? 32 AP WD Ny om I 0D UN) LW

12 3037 72 OTN3 DM

? R,70 »"2. This is another of the various 2712 in %2777 that the 2’109 of Jw NAN W Y NAN Y, etc. are not to be

taken literally, but rather it means a monetary payment.

9 If we were to derive that he pays Twan from nwy wRd (where 12 107 X?), we can then say that 12 0 19 is

superfluous to teach us that even when 12 1707, the rule is 7121 X1 own. However, since we do not derive 1mn

from 7wy WK, only from 12 102 19, we can therefore argue that it applies only in a case of 12 1071 R7. See following
2
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Let us say, when is this so (that 7?17 12°X1 0%wn), in a case where they did not warn
the 22117, since we derive in %217 P75 that the damage must be paid with money,

from 12 0% 35, but not from WY WD, therefore (since there is only one P10d for Nnan

[namely 102 13]) we can say that he pays11 only where there is no 7X1n;1 and therefore no mpon» -
= 9PY RPYINT NN 192 19NNRT XN YaN

However, where they did warn him, I can say that he receives nyp%», but does not
pay! Why therefore is our &713 saying that by %211 he is 7?17 2R 2%wn (even when there was
axanT) 12

nooIN answers: >

- 192 957 RIPN 1NN 1Y DN PY 1ann 39T 1NN NINR XIND 71T PN 135399 AN
And it appears to the °''9 that our X°x® is according to the one there, who
derived the ruling that J°» prn 1Y means a monetary payment, from the 2109 of
7527 -

= YNN PY NNN PY TNYT RPHD XY DNT TYND 1D ONOWUY 29N 27919 YIRPT 1M
And this is what the X is saying here, ‘since it is already written 1 anawm

ant IwKR>,’ so if you assume that ¥ nrn W is to be understood literally -
- NP0 DNIT AYUNIN 95 NNY PRmT DYTYA 53 95 )9 ON

If indeed it is so (that wn» 1y nrn 1Y) why do I need 752 7° by "'y, we can derive

it from ans WwNx>?!
= 1999 939907 Y 93 119N 927 WITINIY 192 P INPIN NN

Rather we must say that 752 7> is superfluous to expound it to mean something

which is given over from hand to hand, meaning money -
7w 12 15 PN 1IN 9NN KD IN YaN

However, if 72 7° was not superfluous, we would have assumed that 752 75 is to

footnote # 11. See ‘“Thinking it over’.
" The 717 is not that he pays and 7?17 11X (since there was no X071, so obviously 771 X), but rather the 77 is
that ¥ nfn PV is not to be taken literally, but rather he must pay for the value of the eye.
"2 mooin asked two questions; one regarding 1"y, and the other regarding 11°2m2 2. In this MdoIN the first question
will be answered, and the second question will be answered in the following 22117 7"7 '01n. See footnote # 17.
" This is the answer to the first question of '01n regarding 1"y. See footnote # 12.
" This is referring to &,79 p"2 %2377 pIO.
' The 1"y wanted to chop off his hand so their hand should be chopped off. We know this from ot 2wX2, why write
72 77!
' mooin question was why was it necessary to state that since 72 7 is superfluous, therefore it teaches us the 21
1. Seemingly even if it is not superfluous it will also teach us 17», for what else does 7°2 7° mean; it cannot mean
wnn 72 7, since we derive from Y nnn 1Y that it means 1». The answer is that this 7"» derives the 1% 211 (and
not 1Y or wnn 7°) from 72 7° (but not from Py Nnn 1Y), therefore we require that 7°2 7° is superfluous to teach us Pnn,
for if it were not superfluous, we indeed may have assumed that wnn 721 7°.
" The n"a71 MAaT comments that this *71 717 '010 and the following 2211 77"7 '010 are (really) one Moo,
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be taken literally.

Summary
We cannot derive np17 XY o%wn from ont awRd 12 anwyy, for that may be

discussing mp?m 0. The rule that Py nnn Py is 1 is derived from the
superfluous 7°2 7°.

Thinking it over
mooIn asks regarding 9217 that perhaps the 772 of 12 102 15 is only when 07 X9

13, so how do we know that 712 1K) 2%wn by 12 1na."® Seemingly mpoin could
have similarly used this question to answer his previous question why 7°2 7> needs
to be superfluous,'” for otherwise we may think that 721 7° is 7mn, only when &9
12 9707, but since it is superfluous, we know that it is always 717 12°X1 22wn even if
12 17n77. Why did not mpoIn give that answer?!*

18 See footnote # 10.
1 See footnote # 6.
2 See w"wA.
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